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1.

4.

(a). How much is the current for a series circuit with an ideal forward-biased diode,
a 5kQ resistor, and a 5V voltage source ? (5%)

(b). Calculate the current for the circuit of (a) if the voltage drop of the forward-biased
diode is 0.6V. (5%)

(c). How much is the current for the series circuit if we connect the other diode with
the same specification as in (b) back-to-back provided the breakdown voltage of
the diode is greater than 10V ? (5%) :

Fig. 2 shows a popular limiter circuit for
amplitude control of oscillator circuits is
shown in the right figure. Explain how does it
operate. (15%)
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Vl;e(on)=0.7V, B=150, £,=50. Calculate
§50-K g 3K §2 K the voltages at all nodes, currents

' through all branches and the DC
power consumption ? (15%)

- (Fig. 3)

Fig. 4 shows the inverting configuration of an operating amplifier. What is the output
voltage v, ? (10%)
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5. Fig.S shows the 741 second stage circuit prepared for small-signal analysis. Describe
the small-signal input impedance R;, with small signal model parameters § r, and the
component values shown in the figure. (15%)

6. Fig. 6 shows a compensated two-stage CMOS opéraﬁhg amplifier

| (a). Calculate the pole/zero frequencies. (15%) . .

(b). Explain the “pole-splitting compensatlon” for the two-stage amplifier with the
bode plots. (15%) :
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